OPBIL—

BS INRIEE EBEE (km)
1 | J RIYAZER#ERIL 00
2 |RESKE 08
3 |WENWESY FRREFR] 12
4 |BL=TB 19
5 |RFERZEM 24
6 | KNIAH] 29
7| REEmHA 33
8 |hiz 36
O |[ESH*LRl 40
1 | J RIIAZERERIL 54




QREFHREIL—

BS INRISE bRt (km)
1 | J RIINERIRIE 0.0
2 |HFmM3TH 09
3 |T=kE 1.2
4 |D—=FVTITU7E 1.7
5 (WET&EE 26
6 | 2.8
7 |RBB4TH 36
8 |R2B5TH 39
4 |D—=FVTT7Ph 2.9
3 |TF=EE 6.4
2 |HFm3T7H 6.7
1 | JRINERIRIL 76




@ILBKEIL— ~

&S E2=cl EBRE (km)
1 |[JRIANEMERE 0.0
2 KB 16
3 |BEOR 19
4 | RORIZEFHER 2.4
5 |RABIEE—T B 2.8
6 |MBOR 30
7 | MRERSNDUEER] 3.7
8 | RRBRBEBZER 4.3
9 |BBRKIETF 54
10 |8BR”"TH 59
11 | RBLZFZERR 6.1
12 |RENTH 6.7
13 |BBR=TH 7.3
14 | RREFHERD 84
8 | =RBRBELEER 9.0
6 |\ 94
5 |R\B—T B 9.6
4 | RIRAZEFHER 100
3 |BEOR 106
2 (M 109
1 JRIIAEMNERR 125




@EBERIEY YT« EBHEERIL—F

BS N2 EBEE (km)
1 |JREZEMER 0.0
2 |FNEH] 07
3 |&fd 1.1
4 |20DFK 1.4
5 |EBWLF 1.9
6 |SNHWNWTST 22
7 |ELE 26
8 |DtYVYTr=H 3.0
7 |EAE 34
6 |SNdNTSY 38
5 |EBWLF 4.1
4 |20F% 46
3 |=fH 49
2 |FEneEs 5.3
1 | JREZEMHIR 6.0
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I8 rE~4)

OEHREELBER/L— F
Y8 N5 ~1 0]

OEHRREESERIL—F
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BS| 28 858 (k)
1 |JREBR 00
2 |msnedE o7
3 |=m 1.1
4 |20% 14
5 |mEs—T8 19
6 |2BnTH 25
7 RO 29
8 |EHrEDi 32
7 RO 39
9 |WRIRATE 43
10 |WRIRETE 46
11 |WRR-TB 51
12 |WRR=TB 55
13 |WRR=TB 57
14 |EE8 6.1
15 |RmEANTE 6.4
16 |2BETE 69
4 |20% 73
3 |=m 76
2 |manedE 80
1 |JREM@R 87

BS NZEE 26%E (km)
1 | JREBR 00
2 |FEE 0.7
3 |&fE 1.1
4 |20F% 14
5 |BEE6—T7T8 19
6 |EBNhTE 25
7 |(WRO 29
8 |BmNEDH 32
7 |(WRO 39
9 |WRIK/ATE 43
10 | WRIRTTE 46
11 [WRER-THE 51
12 |[WRRZTH 55
13 [WRR=TH 57
14 |BEE8 6.1
15 |mEE0NTE 6.4
16 |[EBTTB 6.9
4 |20F%F 73
17 |E28WF 78
18 |dSNdNTSY 8.1
19 |BEAR 85

20 [DEVYT1 28 89
19 |BEAR 9.3
18 |dNdNTSY 97
17 [EBWF 100
4 |20F 105
3 |&fE 108
2 |FInesr 11.2
1 | JREBR 11.9

BS NRigE BEBE (km)
1 |JREBR 00
2 |Fnedy o.7
3 |=fM[E 1.1
4 |20FK 14

17 | 2BWF 19
18 [SNdNTSH 22
19 |ErE 26
20 |1 OEVYT 128 30
19 |BRE 34
18 [SNdBNTSY 38
17 |[2EBWF 41
4 |20 46
5 |mE6—T8 51
6 |EBhTB8 57
7 (WRO 6.1
8 |BmN'EDi 6.4
7 |WRO 71
9 |WRIRATE 75
10 |WRIRETH 78
11 |WRE—-TH 83
12 (WRERZTH 87
13 (WRER=TH 89
14 |m286 93
15 |mE2607T8 96
16 |2BTTHB 10.1
4 |20RK% 105
3 | = 108
2 |Fmnee 112
1 | JREEMR 119




GZ2BREESRRI/IL—F (JEVEH)
T8%ka M eE~7&J

ES INZEE 858 (km)
1 [JREM@R 00
2 |mnem 07
3 |=m® 1.1
4 |20% 14
5 |mEs—-78 19
6 |2BnTHE 25
7 |mgo 29
8 |@Enr=@i 32
7 |mgo 39
o |WBRAETH 43
10 [WBRIRETE 46
11 [we=—TB 5.1
12 |[WBE-TH 55
13 |[WRE=TH 57
14 |mEs 6.1
15 |m2emTe 6.4
16 |2@tTE 69
4 |20% 73
17 |2BWw=F 78
18 |3nspn IS5 8.1
19 |BEAE 85
20 [DEVYF =8 89
19 |FEAE 93
18 |anspn IS5 o7
17 |2BWw=F 100
4 |20% 105
= 108
2 |manes 11.2
1 | JREMER 11.9

CZ2BREESBRIL—F (DEVEH)
TB%B I8#&~16#&.

B2 NREE 268 (km)
1 |JREMEER 00
2 |Enem 07
3 |=m 11
4 |20% 14
17 |28ULF 19
18 |dNHNTSY 22
19 |FELE 26
20 |JEVYT <26 30
19 |FELE 34
18 |dNdHNTSY 38
17 |28ULF 4.4
4 |20% 46
5 |EE5—T8 5.1
6 |2EBNTE 57
7 |WROo 6.1
8 |mnRit 64
7 |WROo 7
9 |WRIRATH 75
10 |WRIRETHE 78
11 [WRE—T8 83
12 |WR%R=-T8 87
13 [WRE=TH 89
14 |m28 93
15 |mE280TE 06
16 |2BETE 101
4 |20% 105
3 |&m 10.8
2 |mnem 112
1 |UR2MEER 119




ORBHEREESHERIL—

BS INREE EBEE (km)
1 | RIRZEFHER 0.0
2 | XD 04
3 |S<Ko6EFS 09
4 |JINERER 19
5 |RBEHNR 28
6 |FHh=T8 34
7 |RTHIET B 38
8 [BNEZTE 4.2
O BN EDM 4.5

10 |(WRO 48
11 |EBNTBE 5.1
12 |BME6—TH S.7
13 |EBHTTHE 5.9
14 |BME60TH 6.4
15 |ME6 6.7
16 |WRR=TH 72
17 (WRR"TH 74
18 |[WRER—-THE 78
19 |(WRIKRCTTH 83
20 |(WR/AETHE 85
21 |RR 83
10 |(WRO 9.0
O |ENEMI 93
8 |BNEZTHE 06
7 |AHIUT B 100




6 |FH=T8 104
5 |RBEHNR 110
4 |JINERER 118
3 |S<Ko6EFS 128
2 | XD 133
1 | RIRZEFHER 138




